## **Garland Independent School District**

## **GISD Sourcing Bid Tab Report**

Bid#:	31642	Title:93-16 Trash Bags and Can Liners (Warehoused)

Quote#	Vendor / Supplier	EPCNT	Discoun
472452	CALICO INDUSTRIES INC	YES	n/a
472497	CENTRAL POLY-BAG	ves	none
472417	EMPIRE PAPER COMPANY	no	0
472478	*EPOLY STAR INCORPORATED	Yes, as	0
472523	EVCO PARTNERS LP DBA	ves	N/A
472496	INFINITY SUPPLY AND SERVICE	ves	20%
472490	INTERBORO PACKAGING CORP	Yes	50% off
472362	JOHN M BAXTER SALES CO INC	ves	35%
472512	LAST GROUP ENTERPRISES	Yes	by
473588	MANS DISTRIBUTORS INC	Yes	15%
473590	OLMSTED-KIRK PAPER COMPANY	Yes	20%
472518	POLLOCK PAPER DISTRIBUTORS	Yes.	25-40%
	PRAETORIAN OPERATING	No	0
	SAFEWAY SUPPLY INCORPORATED	YES	0
	*THE MASTERS DISTRIBUTION	Yes	10%
	WASTEZERO INCORPORATED	Yes	10%
472509	XL PLASTICS INCORPORATED	ves	n/a
	UNIPAK CORP	Yes	10%
	REINERT PAPER & CHEMICAL	no	40%

## \*Confidential

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
1	TRASH BAG 43 X 47" 55 GAL1.1 Mil MIL, (CLEAR) 100/CS	Υ		cs	SAFEWAY SUPPLY INCORPORATED	5500	\$12.65	\$69,575.00
				CS	INTERBORO PACKAGING CORP	5500	\$13.18	\$72,490.00
				cs	UNIPAK CORP	5500	\$13.68	\$75,240.00
				cs	LAST GROUP ENTERPRISES	5500	\$13.85	\$76,175.00
				CS	CENTRAL POLY-BAG CORPORATION	5500	\$13.95	\$76,725.00

		A						
Line#	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
		(			Сиррия	,		
					*THE MASTERS DISTRIBUTION			
				cs	SYSTEMS	5500		
				cs	WASTEZERO INCORRORATED	5500	\$14.14	\$77.770.00
				CS	WASTEZERO INCORPORATED	5500	\$14.14	\$77,770.00
				cs	CALICO INDUSTRIES INC	5500	\$14.98	\$82,390.00
				CS	MANS DISTRIBUTORS INC	5500	\$15.05	\$82,775.00
				cs	XL PLASTICS INCORPORATED	5500	\$15.22	\$83,710.00
						-	<b>VIOIE</b>	<del>\</del>
					PRAETORIAN OPERATING			
					INCORPORATED DBA CAMPBELL			
				cs	PAPER COMPANY	5500	\$15.50	\$85,250.00
				Ce	*EPOLY STAR INCORPORATED	5500		
	<u> </u>			CS	LI OLI SIAN INCORPORATED	5500		
					INFINITY SUPPLY AND SERVICE			
				cs	INCORPORATED	5500	\$16.53	\$90,915.00
					OLMOTED KIDK DATES CONT.		A	****
				CS	OLMSTED-KIRK PAPER COMPANY	5500	\$16.79	\$92,345.00
				cs	POLLOCK PAPER DISTRIBUTORS	5500	\$18.75	\$103,125.00
			1		· · · · · · · · · · · · · · · · ·		,	,

		Award						
Line#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				cs	EMPIRE PAPER COMPANY	5500	\$22.00	\$121,000.00
				cs	JOHN M BAXTER SALES CO INC DBA BAXTER CLEANCARE	5500	\$24.64	\$135,520.00
							•	,,.
				cs	EVCO PARTNERS LP DBA BURGOON COMPANY	5500	\$25.00	\$137,500.00
				CS	COMPANY	3300	\$25.00	\$137,500.00
	TRASH BAG (CLASSROOM) 24"X							
2	33"6MIL, (CLEAR0.	N	1NOL	CS	INTERBORO PACKAGING CORP	700	\$11.98	\$8,386.00
		N	1NOL	cs	CENTRAL POLY-BAG CORPORATION	700	\$12.10	\$8,470.00
		Υ		cs	SAFEWAY SUPPLY INCORPORATED	700	\$14.80	\$10,360.00
				cs	UNIPAK CORP	700	\$15.60	\$10,920.00
							<b>V.0.00</b>	<b>V.0,020.00</b>
				-	MANG DISTRIBUTORS INC	700	640.40	£44.070.00
				CS	MANS DISTRIBUTORS INC	700	\$16.10	\$11,270.00
				CS	LAST GROUP ENTERPRISES	700	\$16.33	\$11,431.00
					*THE MASTERS DISTRIBUTION			
				cs	SYSTEMS	700		

Line#   Rem Description									
Line#   New Description									
Line#   Nem Description									
Line#   Nem Description			Award						
CS REINERT PAPER & CHEMICAL 700 \$16.65 \$11,855.00  INFINITY SUPPLY AND SERVICE 700 \$17.73 \$12,411.00  CS NCORPORATED 700 \$18.14 \$12,698.00  CS XL PLASTICS INCORPORATED 700 \$18.81 \$13,167.00  PRAETORIAN OPERATING INCORPORATED 700 \$18.87 \$13,209.00  CS OLMSTED-KIRK PAPER COMPANY 700 \$19.31 \$13,517.00  CS OLMSTED-KIRK PAPER COMPANY 700 \$20.17 \$14,119.00  CS BAXTER CLEANCARE 700 \$23.83 \$16,881.00	Line#	Item Description		Reason	UOM	Supplier	Qty	Price	Extended Price
CS   NEORPORATED   700   \$17.73   \$12,411.00									
CS   NEORPORATED   700 \$18.14 \$12,411.00									
CS   NEORPORATED   700 \$18.14 \$12,411.00									
CS   NEORPORATED   700 \$18.14 \$12,411.00						DEINERT RABER & GUELLOAL	700	*40.05	444.055.00
CS XL PLASTICS INCORPORATED 700 \$18.14 \$12,698.00  CS XL PLASTICS INCORPORATED 700 \$18.81 \$13,167.00  PRAETORIAN OPERATING INCORPORATED BA CAMPBELL CS PAPER COMPANY 700 \$18.87 \$13,209.00  CS OLMSTED-KIRK PAPER COMPANY 700 \$19.31 \$13,517.00  JOHN M BAXTER SALES CO INC DBA CS BAXTER CLEANCARE 700 \$20.17 \$14,119.00  CS 'EPOLY STAR INCORPORATED 700 \$23.83 \$16,681.00					CS	REINERT PAPER & CHEMICAL	700	\$16.65	\$11,655.00
CS XL PLASTICS INCORPORATED 700 \$18.14 \$12,698.00  CS XL PLASTICS INCORPORATED 700 \$18.81 \$13,167.00  PRAETORIAN OPERATING INCORPORATED BA CAMPBELL CS PAPER COMPANY 700 \$18.87 \$13,209.00  CS OLMSTED-KIRK PAPER COMPANY 700 \$19.31 \$13,517.00  JOHN M BAXTER SALES CO INC DBA CS BAXTER CLEANCARE 700 \$20.17 \$14,119.00  CS 'EPOLY STAR INCORPORATED 700 \$23.83 \$16,681.00									
CS XL PLASTICS INCORPORATED 700 \$18.14 \$12,698.00  CS XL PLASTICS INCORPORATED 700 \$18.14 \$12,698.00  CS CALICO INDUSTRIES INC 700 \$18.81 \$13,167.00  PRAETORIAN OPERATING INCORPORATED DBA CAMPBELL CS PAPER COMPANY 700 \$18.87 \$13,209.00  CS OLMSTED-KIRK PAPER COMPANY 700 \$19.31 \$13,517.00  JOHN M BAXTER SALES CO INC DBA CS BAXTER CLEANCARE 700 \$20.17 \$14,119.00  CS 'EPOLY STAR INCORPORATED 700 \$23.83 \$16,681.00									
CS XL PLASTICS INCORPORATED 700 \$18.14 \$12,698.00  CS XL PLASTICS INCORPORATED 700 \$18.81 \$13,167.00  PRAETORIAN OPERATING INCORPORATED BA CAMPBELL CS PAPER COMPANY 700 \$18.87 \$13,209.00  CS OLMSTED-KIRK PAPER COMPANY 700 \$19.31 \$13,517.00  JOHN M BAXTER SALES CO INC DBA CS BAXTER CLEANCARE 700 \$20.17 \$14,119.00  CS 'EPOLY STAR INCORPORATED 700 \$23.83 \$16,681.00						INFINITY SUPPLY AND SERVICE			
CS CALICO INDUSTRIES INC 700 \$18.81 \$13,167.00  PRAETORIAN OPERATING INCORPORATED DBA CAMPBELL 700 \$18.87 \$13,209.00  CS PAPER COMPANY 700 \$19.31 \$13,517.00  JOHN M BAXTER SALES CO INC DBA CS BAXTER CLEANCARE 700 \$20.17 \$14,119.00  CS *EPOLY STAR INCORPORATED 700  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00					cs		700	\$17.73	\$12,411.00
CS CALICO INDUSTRIES INC 700 \$18.81 \$13,167.00  PRAETORIAN OPERATING INCORPORATED DBA CAMPBELL 700 \$18.87 \$13,209.00  CS PAPER COMPANY 700 \$19.31 \$13,517.00  JOHN M BAXTER SALES CO INC DBA CS BAXTER CLEANCARE 700 \$20.17 \$14,119.00  CS *EPOLY STAR INCORPORATED 700  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00									
CS CALICO INDUSTRIES INC 700 \$18.81 \$13,167.00  PRAETORIAN OPERATING INCORPORATED DBA CAMPBELL CS PAPER COMPANY 700 \$18.87 \$13,209.00  CS OLMSTED-KIRK PAPER COMPANY 700 \$19.31 \$13,517.00  JOHN M BAXTER SALES CO INC DBA CS BAXTER CLEANCARE 700 \$20.17 \$14,119.00  CS *EPOLY STAR INCORPORATED 700  CS *EPOLY STAR INCORPORATED 700 \$23.83 \$16,681.00									
CS CALICO INDUSTRIES INC 700 \$18.81 \$13,167.00  PRAETORIAN OPERATING INCORPORATED DBA CAMPBELL 700 \$18.87 \$13,209.00  CS PAPER COMPANY 700 \$19.31 \$13,517.00  JOHN M BAXTER SALES CO INC DBA CS BAXTER CLEANCARE 700 \$20.17 \$14,119.00  CS *EPOLY STAR INCORPORATED 700  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00									
CS CALICO INDUSTRIES INC 700 \$18.81 \$13,167.00  PRAETORIAN OPERATING INCORPORATED DBA CAMPBELL 700 \$18.87 \$13,209.00  CS PAPER COMPANY 700 \$19.31 \$13,517.00  JOHN M BAXTER SALES CO INC DBA CS BAXTER CLEANCARE 700 \$20.17 \$14,119.00  CS *EPOLY STAR INCORPORATED 700  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00					CS	XI PLASTICS INCORPORATED	700	\$18 14	\$12 698 00
PRAETORIAN OPERATING INCORPORATED DBA CAMPBELL CS PAPER COMPANY  CS OLMSTED-KIRK PAPER COMPANY  TOO \$19.31 \$13,517.00  JOHN M BAXTER SALES CO INC DBA BAXTER CLEANCARE  TOO \$20.17 \$14,119.00  CS 'EPOLY STAR INCORPORATED  CS EMPIRE PAPER COMPANY  TOO \$23.83 \$16,681.00					- 00	ALTEROTIOS INCOMI CINATES	700	ψ10.14	ψ12,030.00
PRAETORIAN OPERATING INCORPORATED DBA CAMPBELL CS PAPER COMPANY  CS OLMSTED-KIRK PAPER COMPANY  TOO \$19.31 \$13,517.00  CS JOHN M BAXTER SALES CO INC DBA BAXTER CLEANCARE  CS *EPOLY STAR INCORPORATED  CS *EPOLY STAR INCORPORATED  CS *EMPIRE PAPER COMPANY  TOO \$23.83 \$16,681.00									
PRAETORIAN OPERATING INCORPORATED DBA CAMPBELL CS PAPER COMPANY  CS OLMSTED-KIRK PAPER COMPANY  TOO \$19.31 \$13,517.00  CS JOHN M BAXTER SALES CO INC DBA BAXTER CLEANCARE  CS *EPOLY STAR INCORPORATED  CS *EPOLY STAR INCORPORATED  CS *EMPIRE PAPER COMPANY  TOO \$23.83 \$16,681.00									
PRAETORIAN OPERATING INCORPORATED DBA CAMPBELL CS PAPER COMPANY  CS OLMSTED-KIRK PAPER COMPANY  TOO \$19.31 \$13,517.00  JOHN M BAXTER SALES CO INC DBA BAXTER CLEANCARE  TOO \$20.17 \$14,119.00  CS 'EPOLY STAR INCORPORATED  CS EMPIRE PAPER COMPANY  TOO \$23.83 \$16,681.00									
CS OLMSTED-KIRK PAPER COMPANY 700 \$19.31 \$13,517.00  CS OLMSTED-KIRK PAPER COMPANY 700 \$19.31 \$13,517.00  JOHN M BAXTER SALES CO INC DBA BAXTER CLEANCARE 700 \$20.17 \$14,119.00  CS *EPOLY STAR INCORPORATED 700  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00					CS	CALICO INDUSTRIES INC	700	\$18.81	\$13,167.00
CS OLMSTED-KIRK PAPER COMPANY 700 \$19.31 \$13,517.00  CS OLMSTED-KIRK PAPER COMPANY 700 \$19.31 \$13,517.00  JOHN M BAXTER SALES CO INC DBA BAXTER CLEANCARE 700 \$20.17 \$14,119.00  CS 'EPOLY STAR INCORPORATED 700  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00									
CS OLMSTED-KIRK PAPER COMPANY 700 \$19.31 \$13,517.00  CS OLMSTED-KIRK PAPER COMPANY 700 \$19.31 \$13,517.00  JOHN M BAXTER SALES CO INC DBA BAXTER CLEANCARE 700 \$20.17 \$14,119.00  CS 'EPOLY STAR INCORPORATED 700  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00									
CS OLMSTED-KIRK PAPER COMPANY 700 \$19.31 \$13,517.00  JOHN M BAXTER SALES CO INC DBA CS BAXTER CLEANCARE 700 \$20.17 \$14,119.00  CS *EPOLY STAR INCORPORATED 700  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00									
CS OLMSTED-KIRK PAPER COMPANY 700 \$19.31 \$13,517.00  JOHN M BAXTER SALES CO INC DBA 700 \$20.17 \$14,119.00  CS *EPOLY STAR INCORPORATED 700  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00					cs		700	\$18.87	\$13,209.00
CS *EPOLY STAR INCORPORATED 700 \$20.17 \$14,119.00  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00									
CS *EPOLY STAR INCORPORATED 700 \$20.17 \$14,119.00  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00									
CS *EPOLY STAR INCORPORATED 700 \$20.17 \$14,119.00  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00									
CS *EPOLY STAR INCORPORATED 700 \$20.17 \$14,119.00  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00						OL MOTED WIDE DADED COMPANY	700	***	440 547 00
CS *EPOLY STAR INCORPORATED 700 \$20.17 \$14,119.00  CS *EPOLY STAR INCORPORATED 700  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00					CS	OLMSTED-KIRK PAPER COMPANY	700	\$19.31	\$13,517.00
CS *EPOLY STAR INCORPORATED 700 \$20.17 \$14,119.00  CS *EPOLY STAR INCORPORATED 700  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00									
CS *EPOLY STAR INCORPORATED 700 \$20.17 \$14,119.00  CS *EPOLY STAR INCORPORATED 700  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00									
CS *EPOLY STAR INCORPORATED 700 \$20.17 \$14,119.00  CS *EPOLY STAR INCORPORATED 700  CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00						JOHN M BAXTER SALES CO INC DBA			
CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00					cs	BAXTER CLEANCARE	700	\$20.17	\$14,119.00
CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00									
CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00									
CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00									
CS EMPIRE PAPER COMPANY 700 \$23.83 \$16,681.00					CS	*EPOLY STAR INCORPORATED	700		
					- 55	- CI CIM MOON ONAILD	. 50		
								_	
CS POLLOCK PAPER DISTRIBUTORS 700 \$24.04 \$16.828.00					cs	EMPIRE PAPER COMPANY	700	\$23.83	\$16,681.00
CS POLLOCK PAPER DISTRIBUTORS 700 \$24.04 \$16.828.00									
CS   POLLOCK PAPER DISTRIBUTORS   700   \$24.04   \$16.828.00									
CS   POLLOCK PAPER DISTRIBUTORS   700   \$24.04   \$16.828.00									
					cs	POLLOCK PAPER DISTRIBUTORS	700	\$24.04	\$16,828.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
					EVCO PARTNERS LP DBA BURGOON COMPANY	700	\$28.31	\$19,817.00
					WASTEZERO INCORPORATED	700	\$30.50	